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; 100kN/m#%#BZ5| 1.00 | 000 ~ 200| 130.83 |3mZEBzE| — ~ — — — | 100kN/mi%# 2% | 1.00 | 11.17 ~ 1864 | 130.83 |3mEHEZB - ~ - — —
ZznLst 1.00 | 200 ~ 9.78 100.00 | =04y | 000 ~ 9.78| 2.38 12.71 ZznLst 1.00 | 5.00 ~ 1117 100.00 | =nRS | 6,00 ~ 1864|238 12.71
2 100kN/m#%#B25| 1.00 | 000 ~ 1.18| 11786 |3mZEBz35| — ~ — — — | 100kN/mi%# 2% | 1.00 | 1066 ~ 1429| 117.86 |3mEHEZS - ~ - — —
ZznLst 1.00 | 1.18 ~ 897 100.00 | =0 | 000 ~ 897|227 12.15 ZznLst 1.00 | 5.00 ~ 10.66 100.00 | #nLS | .00 ~ 1429|227 12.15
g 100kN/m#%#B2x5| 1.00 | 000 ~ 1.18| 11786 |3mZEBz5| — ~ — — — | 100kN/mi%# 2% | 1.00 | 1066 ~ 1429| 117.86 |3mEHEZS - ~ - — —
ZznLst 1.00 | 1.18 ~ 897 100.00 | =0 | 000 ~ 897|227 12.15 ZznLst 1.00 | 5.00 ~ 10.66 100.00 | #nLS | .00 ~ 1429|227 12.15
4 100kN/m#%#BZ5| 1.00 | 000 ~ 1.53| 12335 |3mZEBz5| — ~ — — — | 100kN/mi%# 2% | 1.00 | 1075 ~ 1578 | 123.35 |3mEHEZD - ~ - — —
ZznLst 1.00 | 1.68 ~ 9.32 100.00 | =05y | 000 ~ 9.32| 2.49 13.34 ZznLst 1.00 | 5.00 ~ 10.75 100.00 | #nRS | 6,00 ~ 1578 | 2.49 13.34
5 100kN/mM%#BZ5| 1.00 | 0.00 ~ 0.71 110.62 |3mZEBZBH| — ~ — — — | 100kN/mi%# 2% | 1.00 | 1056 ~ 1259 | 110.62 |3mEHEZS - ~ - — —
ZhnLs 1.00|0.71 ~ 850 100.00 | =ns | 0.00 ~ 850|223 11.93 zhnLs 1.00 | 5.00 ~ 1056 100.00 | Ths | 500 ~ 1259|223 11.93
¢ 100kN/MZ#8 % % — -~ = —[3mZEBRB[ — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ B -~ — — —
ZznLst 1.00 | 0.00 ~ 761 97.42 | #hst | 0oo ~ 761|220 11.79 ZznLst 1.00 | 5.00 ~ 10.09 97.42 | =0 | 5,00 ~ 1009|220 11.79
. 100kN/MZ#8 % % — -~ = —[3mZEBRB[ — ~ — — — | 100kN/M%Z#BZ % — -~ — — |3mZE#BZ B -~ — — —
zhnLs 1.00 | 000 ~ 761 97.42 | #hs | 000 ~ 761|178 9.65 zhnLs 1.00 | 6,00 ~ 10.09 97.42 | FnLSY | 5,00 ~ 1009 1.78 9.556
g 100kN/mMZ#8Z5 | 1.00 | 0.00 ~ 0.91 113.64 |3mZEBZDH| — ~ — — — | 100kN/mi%# 2% | 1.00 | 1094 ~ 14.09| 113.64 |3mEHEZD - ~ - — —
ZznLst 1.00 | 091 ~ 870 100.00 | =04y | 000 ~ 870| 2.06 11.01 ZznLst 1.00 | 5.00 ~ 10.94 100.00 | =nLS | .00 ~ 14.09| 2.06 11.01
g 100kN/MZ#8 % % — -~ = —[3mZEBRB[ — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ B -~ — — —
ZznLst 1.00 | 0.00 ~ 623 78.30 | =N | 0.00 ~ 0.00)| 1.60 8.68 ZznLst 1.00 | 5.00 ~ 7.70 78.30 | EnLS | .00 ~ 7.70 | 1.60 8.568
10 100kN/M#E#E 2% -1 -~ - —|3mEERB| — ~ — — — | 100kN/m%Ei#BZ % — - ~ — —[3mEBZB — ~ — — —
Zhst - -~ - — | Zh st — ~ = — — ZFhst — — ~ — — | Zh st - ~ — — —
100kN/i%#E 2 % ~ 3mEHBZD ~ 100kN/i##8 2 % ~ 3mZEHEZS ~
Zhst ~ znLst ~ ZFhst ~ zhnLst ~
100kN/iZi#E 2 % ~ 3mEHEZD ~ 100kN/i##8 2 % ~ 3mZEHEZS ~
ZThst ~ znLst ~ ZFhust ~ znLst ~
100kN/ %82 % ~ 3mZEHEZD ~ 100kN/i##8 2 % ~ 3mZEHEZS ~
Zhst ~ znLst ~ Zhust ~ zhnLst ~
100kN/i%#E 2 % ~ 3mEHBZD ~ 100kN/i##8 2 % ~ 3mZEHEZS ~
Fhust ~ ZnLst ~ Fhust ~ zhnLst ~
100kN/ %82 % ~ 3mEHBZD ~ 100kN/i##8 2 % ~ 3mZEHEZS ~
ZhLS ~ Zn LS ~ ZhLSH ~ Zn LS ~
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